|

v

27 5/8" 1 12716" —————

40 1/16"

99 5/8"

TOP VIEW

52 3/4"

Parts List

ltem | Qty. Description Fin. Wt.
1 1 |WHEEL ASSEMBLY, 18" DIAMETER X 5" WIDE, BUSHED HUB 44 Ibmass
2 1 |REMOVABLE PLOW BLADE 15 Ibmass
3 4 [3"-7" TINES, AR400 6 Ibmass
4 1 |STALL GROOMER FRAME ASSEMBLY 446 Ibmass
5 1 |ELBOW, 8MB-8MJ90 0 Ibmass
6 2 [HOSE ASSEMBLY, 1/2" HYD. 140" OF 1/2" HOSE WITH FITTINGS 5 Ibmass
7 1 |ADAPTER, HYDRAULIC HOSE ADAPTER, 8MJ-8MP
8 1 |VALVE, 1/2" NEEDLE VALVE 0 Ibmass
9 1 |ELBOW, 8MB-8MP90
10 1 |3x18 PRINCE HYDRAULIC CYLINDER 5 Ibmass
11 3 |WASHER, FLAT, 1", ZINC PLATED 0 Ibmass
12 24 |WASHER, FLAT, 3/4", ZINC PLATED 0 Ibmass
13 1 |NUT, GRIP, 1", NC, GRADE 5, ZINC PLATED 0 Ibmass
14 12 |NUT, GRIP, 3/4", N.C., GRADE 5, ZINC PLATED 0 Ibmass
15 1 |CAPSCREW, HEX HEAD, 1" X 8", NC, GRADE 5, ZINC PLATED 2 Ibmass
16 8 |[CAPSCREW, HEX HEAD, 3/4" X 3", NC, GRADE 5, ZINC PLATED 1 Ibmass
17 4 [CAPSCREW, HEX HEAD, 3/4" X 2-1/4", NC, GRADE 5, ZINC PLATED 0 Ibmass
18 2 [SLEEVE BEARING, SAE 841 BRONZE, 1 IN DIA SHAFT, 2.5 IN LONG, 1.25IN OD 0 Ibmass
19 1 |GENERAL DANGER 0 Ibmass
20 1 |STAY CLEAR 0 Ibmass
21 1 |MCLANAHAN EMBLEM 1 Ibmass
22 1 |MCLANAHAN NAMEPLATE 0 Ibmass

HYDRAULIC CYLINDER DATA
MANUFACTURER: |PRINCE MANUFACTURING

MODEL: B300180ABAAAQ7B
BORE: 3"
STROKE: 18"

PRESSURE: 3000 PSI
PORTS: #8 SAE
PIN SIZE: 1"

\_b

\Y

S\

N

\\\

<
=
41 1/8"
102 3/8"
INFORMATION CONTAINED IN
THIS DOCUMENT IS A TRADE
SECRET AND ANY USE OF THE I
INFORMATION, EXCEPT BY ITS
= ’/// M c a n a h a n
STRICTLY PROHIBITED AND
MISAPPROPRIATION OF THE
INFORMATION SHALL MAKE THE | ' /‘
NONINTENDED RECEIVER LIABLE
FOR ANY AND ALL DAMAGES ®
R A o THE [BESCRIPTION AUTHOR CREATION DATE
UNLESS OTHERWISE SPECIFIED, RLP 1/9/2018
TOLERANCES ON DIMENSIONS CHECKED BY CHECKED DATE
ARE:
VACHINNG MRS 1/9/2018
DECIMAL w000 | GA DRAWING FOR STALL GROOMER WITH  [machre MACHINE SIZE
FRACTION £1/64 -
PROFILE/SAW /16 EXTENSION SG
FABRICATION +1/8
CAST SURFACES +1116 DRAWING NUMBER
SURFACE FINISH 125
UNLESS OTHERWISE NOTED, ALL|SCALE WEIGHT PART NUMBER REV. n
WELDS ARE TO BE CONTINUOUS.
FILLET WELDS ARE TO BE 9/16
OF MINIMUM PLATE THICKNESS. VARIES|522 LBS REF: SHEET 1 OF 1
2 I 1




